(1R

B

(=105

-

4
1

\_ HIFD

~

v

~
N
\
1

1
4
.,

-

15

H

SN

=2

=]

A H

RO LBV BIgFERERE Wb OBk Z RS L £,

B, HEEICHTZ0 | RAREIT LTI FL K OVF— B o

TR D BE R 203 N 1 e e B Rl 3 28 R &

= A

ARBUIR LS 2 ERE 3 5

ZEIZEELET, (AN Z ZFEAL T2 E0Y,)
7 U H F
% KIE BBF1 PRk SF
o % F 4 # e 5
(PN )
£ At =
HOOR TRy
ot i
R £ 713 -
READKA )
EEES ( - - )
Fﬁﬁb(l/\é 2 231\ kg S 2 Yoo v
BE A LA O B lebRER D3 itk O 1#
N BT . .y
e o = R ES 4 ERERIEL
ﬁ‘ﬁ‘é@ﬁ]ﬁf’jﬂﬂ @/3@
HLETHKEME |1 XU —%% (FEHH12, 000HM4 : 500MHX 24
(EBEHEMNZ0) |2 AU HF (46, 000M4: 500HX1 24)
---------------- MZHHRAMN<A Y )V BEOBEICHA CERGERGEM) > ------mmmmm-meee-
N ERTeE B
B R B I SRR T O AN
_ O AA
EWTAA | O meemem (&4 i )
KT R IE H
- o | FRRIE - B T IR B ZATHED [EyNAES S e
i w Y = — = N = TN 7}%‘%3
HIRNEHR | ynesn | prasimeR | s EEEA | ZektE - g | TVHFRA
R - FERRAL
(HH5)




